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1. Write the common difference of an A.P. whose nth term is 3n + 5.
2. Write the value of x for which x + 2, 2x, 2x + 3 are three consecutive terms of an A.P.
3. For what value of k, are the numbers X, (2x + k) and (3x + 6) three consecutive terms of

an A.P.?

4
4. If 5-a, 2 are three consecutive terms of an A.P., then find the value of a?

5. For what value of p are 2p — 1, 7 and 3p three consecutive terms of an A.P.?

6. For what value of p are 2p + 1, 13 and 5p — 3 three consecutive terms of an A.P.?

7. Find the next term of the A.P. v2.48.418....

8. Which term of the A.P.: 21, 18, 15, .... is zero?

9. If the sum of first 7 terms of an A.P. is 49 and that of first 17 terms is 289, find the sum
of n terms.

10. Find the sum of all three digit numbers which are divisible by 7.

11. Find the sum of all the three digit numbers which are divisible by 9.

12. If S, the sum of n terms of an A.P. isgivenby S, = 3n? — 4n, find the nth term.

13. The sum of 4th and 8th terms of an A.P. is 24, and the sum of 6th and 10th terms is 44.
Find the A.P.

14. The Sum of n terms of an A.P. is 5n? — 3n. Find the A.P. Hence find its 10th term.




15. The sum of 4th and 8th terms of an A.P. is 24 and the sum of 6th and 10th terms is 44.
Find the first three terms of the A.P.

16. If T, =3 + 4n then find the A.P. and hence find the sum of its first 15 terms.

17. Which term of the A.P.: 3, 15, 27, 39, .... will be 120 more than its 53rd term?

18. Find the 31st term of an A.P. whose 10th term is 31 and the 15th term is 66.

19. If the 8th term of an A.P. is 37 and the 15th term is 15 more than the 12th term, find the
A.P. Hence find the sum of the first 15 terms of the A.P.

20. The 5th and 15th terms of an A.P. are 13 and 17 respectively. Find the sum of first 21
terms of the A.P.

21. Inan A.P. the sum of its first ten terms is 150 and the sum of its next erm is 550. Find
the A.P.

22. The sum of n terms of an A.P. is 3n” + 5n. Find the A.P. Hence, find its 16th term.

23. Inan A.P., the first term is 8, nth term is 33 and sum of first n terms is 123. Find n and

d, the common difference.




